Efficiency vs P,

+0.05 T T
o : : :
D.045F-++eeereieeeees B e
> H H .
2 0.04F - --eee i e
] : : :
.03+ i R RRIE e
0] . . H

0.03F -+ eeeefiefrrereeens e RPN
0.025 {1 RERT RS ERRR SRR o
0.02 ' '

0.015
0.0
0.005

1.0

Ratio

107 1 10 prT (Ge\})o3

—=— DQM_ttbarPU_mkFit_5iter
—e— DQM_ttbarPU_mkFit_5iter_updatedPR111_update
—— DQM_ttbarPU_mkFit_5iter_updatedPR111_update_fixPropagation

0.95

TP N

Efficiency vs ¢

£0.05
0
2.045
2
$0.04
(5]
$.035
(9]

0.03

TIIIITIT

i
+

........................

...........................

TITIIITIIITT]

TP @



	Contents
	Page 1


